TABULATION SHEET	11	31 31 3	Vendor #	1	Vendor #	12	Vendor #	13	Vendor #4		Vendor #	5	
Bid No. 2013-029-6268		3 3 3	ARC Abater				EDRS Inc.		Emnire Envi	ronmental Group Inc.	RNDI Companies Inc.		
Annual Contract Asbestos, Lead, and Mold				y, Sr. Project Mgr	· · · · · · · · · · · · · · · · · · ·		Joe Bordonaro, President		•		Diana Cross, President		
	3	3 3 3	2710 Natio		, ,						2255 Ridge Rod, Ste. 216		
Abatement and Remediation Services		3 3 3	Garland, TX					101 S. Coit Rd., Ste 36 Richardson, TX 75080		Mac Drive	Rockwall, TX 75087		
Opening Date: 3/25/2013	10		972-271-15				•		214-327-365	gs, TX 75180	214-771-3977		
DECORIDEION	4						972-492-3417		214-327-365				
DESCRIPTION:	400	3 3 4	972-271-15					972-492-3405 Fax			214-771-3988 Fax diana@rndicompanies.com		
NCTDCA Coulified Manday (NA (NADE))	100	9 9 9		y@arcabatement.com			joboers@earthlink.net			rog@msn.com	Yes		
NCTRCA Certified Vendor (M/WBE)?			No/Sub-Co	ntractor is.	Yes		Blank		Yes		res Blank		
Dallas County Taxpayer?			Yes		No, Dentor	· · · · · · · · · · · · · · · · · · ·	Yes		Yes				
How were you notified?		3 3 3		nercial Record	Letter from	1 DC	Letter from	I DC	Letter from	DC	Letter from	n DC	
Addendum Returned?	17		Yes		No		No		Yes		No		
								4 4 4	4 4		: .:	9 99 9	
<b>Note:</b> The pricing shall be submitted per square or linear	1444	44444	44444	લેવેલેલેલેલેલેલે	48484	!વાવવવવવવ	9999	વવવવવા	સવલ	વવવવવવવવ	3434343	વલવવલવ	
foot for the following services listed below and include all	0.000	4040404	-0101010	40404040404040	(4)(4)(4)		-0-0-0-0		: 10 - 10 - 10 - 1		0.0000		
labor, services, supervision, workers, supervisors,	09090	909090909	90909090		19191919		90909090		: { : { : { : { : { : { : { : { : { : {		0909090		
technicians, air monitoring, respirators, negative air	9:9:3	13 13 13 13 13	19191919				33333				9:9:9:9		
machines, HEPA vacuum, protective clothing, gloves,	9333		19191919				33333				9:9:9:9		
personal projective equipment, waste bags, supplies,	:::::		00000										
materials, tools, overhead profit, administrative costs,	1:33							000000	:::::::::::::::::::::::::::::::::::::::	000000000			
employee training, insurance, permits, license,	:::::	ggaai	0.000	aaaaaaaaaa			1000	gggbbi				gggaaaa	
mobilization, demobilization, transportation, milage,	100		44444	લુલુલુલુલુલુલુલ				ggggiii	99999	dalahididi	343434		
necessary to perform the complete abatement,	1000	44444	વધવવ	वस्यवस्यस्य	1999	(વવવવવવવ	લુલવલ	લલવલન	સવસાય		3434343	व्यव्यवस्थ	
remediation, final clean-up, removal and disposal of	1444	44444	44444	લેવેલેલેલેલેલેલે	48484	!વાવવવવવવ	9999	વવવવવ	સવલ	વવવવવવવવ	3434343	વવવવવવવ	
asbestos, lead and mold containing materials in accordance	0.000	101011111	444444		1404040		4040404		144444		0.504040		
with this Scope of Work, drawings, the EPA, OSHA, NIOSH,	09090	909090909	90909090	404040404040404	19191919	:::::::::::::::::::::::::::::::::::::::	90909090	{\$\${\$\${\$\$}	: { : { : { : { : { : { : { : { : { : {	{0{0{0}0{0}0{0}0{0}0{0}0{0}0{0}0	0909090		
Texas Department of Health, and TxDOT regulations and	0:0:0	20000000	10101111				:0:0:0:0				9:9:9:9		
any other applicable federal, state, and local government	9:9:3	13 13 13 13 13	19191919				33333				9:9:9:9		
regulations.	9333		19191919				33333				9:9:9:9		
Asbestos Abatement, Removal and Legally Disposal	Estim	ated Annual	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	
Services, as perbid specification requirements.		Quantity	0	Extension	Cime Cost	ZACCIIOIOII	Cint Cost	ZACCIIOIOII	0	2.10101011	0	zaterioren.	
services, as persia specification requirements.		Qualitity											
Asbestos Abatement Floor Tile and Mastic	2500	square foot	¢1 25	\$3,375.00	\$2.50	\$6,250.00	\$1.35	\$3,375.00	\$1.35	\$3,375.00	\$1.35	\$3,375.00	
Asbestos Abatement Floor Tile and Wastle	2300	square root	71.55	55,575.00	J2.30	50,230.00	71.33	\$3,373.00	Ş1.55	\$3,373.00	Ş1.33	\$3,373.00	
Concrete Substrate (Single and Multiple Layers)													
constructe substitute (single una mateiple zayers)													
Asbestos Abatement Floor Tile and Mastic	2500	square foot	\$1.45	\$3,625.00	\$3.00	\$7,500.00	\$1.35	\$3,375.00	\$1.45	\$3,625.00	\$1.35	\$3,375.00	
		- 4	7	70,0=0.00	70.00	71,000.00	7	70,01010	7-11-1	70,020.00	,	70,01010	
Wood or Plywood Subsrate(single and Multiple Layers)													
, , , , , , , , , , , , , , , , , , , ,													
Asbestos Abatement Carpet	2500	square foot	\$1.35	\$3,375.00	\$1.25	\$3,125.00	\$1.35	\$3,375.00	\$0.35	\$875.00	\$0.20	\$500.00	
				, -,-		, , ,		,		,		,	
Concrete Substrate (Single and Multiple Layers)													
, , , , , , , , , , , , , , , , , , ,													
Asbestos Abatement Carpet	2500	square foot	\$1.45	\$3,625.00	\$1.25	\$3,125.00	\$1.35	\$3,375.00	\$0.35	\$875.00	\$0.20	\$500.00	
,													
Wood or Plywood Substrate (Single and Multiple Layers)													
, (= 0 = = = = = = = = = = = = = = = = =													
Asbestos Abatement Floor Sheet Vinyl and Linoleum	6000	square foot	\$1.65	\$9,900.00	\$3.00	\$18,000.00	\$1.50	\$9,000.00	\$1.35	\$8,100.00	\$1.30	\$7,800.00	
Linoleum including adhesive (Single and Multiple Layers)													
Concrete Substrate													
Asbestos Abatement Floor Sheet Vinyl and Linoleum	6000	square foot	\$1.75	\$10,500.00	\$3.00	\$18,000.00	\$1.50	\$9,000.00	\$1.45	\$8,700.00	\$1.30	\$7,800.00	
·													
Linoleum including adhesive (Single and Multiple Layers)													
Wood or Plywood Substrate													
Asbestos Abatement - Walls, Wallboard or Drywall	550	square foot	\$1.45	\$797.50	\$2.50	\$1,375.00	\$2.50	\$1,375.00	\$1.35	\$742.50	\$1.10	\$605.00	
								<u> </u>					
Asbestos Abatement - Walls: Plaster	550	square foot	\$2.25	\$1,237.50	\$6.00	\$3,300.00	\$2.50	\$1,375.00	\$2.35	\$1,292.50	\$1.10	\$605.00	
Asbestos Abatement - Walls: Stucco	550	square foot	\$2.75	\$1,512.50	\$6.00	\$3,300.00	\$2.50	\$1,375.00	\$2.35	\$1,292.50	\$1.10	\$605.00	

TABULATION SHEET	• ;		Vendor #1 V		Vendor #2		Vendor #3		Vendor #4		Vendor #5		
Bid No. 2013-029-6268	90		ARC Abate	ARC Abatement, Inc. DV		DWW Abatement, Inc.		EDRS Inc.		ronmental Group Inc.	RNDI Companies Inc.		
Annual Contract Asbestos, Lead, and Mold	:	3 3 3		ly, Sr. Project Mgr	,		Joe Bordonaro, President		· ·		Diana Cross, President		
Abatement and Remediation Services	19.1		2710 Natio			, ,	101 S. Coit Rd., Ste 36		11405 Molly	,	2255 Ridge Rod, Ste. 216		
Opening Date: 3/25/2013						•••		Richardson, TX 75080			Rockwall, TX 75087		
Opening Date: 3/23/2013	::					·				Balch Springs, TX 75180		214-771-3977	
			972-271-15					972-492-3417		214-327-3653			
DESCRIPTION:	::						972-492-34		214-327-5669 Fax		214-771-3988 Fax		
		3.3.3	dwayneeal	y@arcabatement.com		welch@dwwabatement.com		arthlink.net	empireenvirog@msn.com		diana@rndicompanies.com		
NCTRCA Certified Vendor (M/WBE)?		3.3.3	No/Sub-Co	o/Sub-Contractor is. Yes			Blank		Yes		Yes		
Dallas County Taxpayer?		2 2 1	Yes		No, Dentor	County	Yes		Yes		Blank		
How were you notified?		48.48.4	Daily Comr	nercial Record	Letter from	DC	Letter fron	n DC	Letter from	DC	Letter from DC		
Addendum Returned?	1	2 . 2 . 1	Yes		No		No		Yes		No		
							0.000				0.000	is visit vis	
Asbestos Abatement - Walls: Transite	FF0	square foot	Ć1 F0	¢925.00	ć2.00	ć1 100 00	ć2.00	¢1 100 00	\$1.35	¢742.50	¢1.10	\$605.00	
Aspestos Abatement - Wans. Transite	550	square root	\$1.50	\$825.00	\$2.00	\$1,100.00	\$2.00	\$1,100.00	\$1.55	\$742.50	\$1.10	\$605.00	
Asbestos Abatement - Ceilings: Spray on Fire Proofing	550	square foot	\$3.75	\$2,062.50	\$10.00	\$5,500.00	\$5.00	\$2,750.00	\$3.95	\$2,172.50	\$5.50	\$3,025.00	
Asbestos Abatement - Ceilings: Trowel on Material	550	square foot	\$2.00	\$1,100.00	\$10.00	\$5,500.00	\$2.50	\$1,375.00	\$3.25	\$1,787.50	\$5.50	\$3,025.00	
Ashastas Abstanash Caillians Assasts Calling	550	square foot	¢1.75	¢062.50	ć2.FC	Ć1 27F 0C	¢2.00	ć1 100 00	ć2.2F	Ć1 707 F0	ć1 F0	Ć935 00	
Asbestos Abatement - Ceilings: Acoustic Ceiling, Popcorn	550	square foot	\$1.75	\$962.50	\$2.50	\$1,375.00	\$2.00	\$1,100.00	\$3.25	\$1,787.50	\$1.50	\$825.00	
Asbestos Abatement - Cement Panels (Transite)	550	square foot	\$1.75	\$962.50	\$2.00	\$1,100.00	\$2.00	\$1,100.00	\$1.35	\$742.50	\$1.20	\$660.00	
Asbestos Abatement - Acoustical spray from Walls,	550	square foot	\$7.50	\$4,125.00	\$10.00	\$5,500.00	\$5.00	\$2,750.00	\$2.35	\$1,292.50	\$5.50	\$3,025.00	
Beams, Structual Members/Surfaces													
Asbestos Abatement - Duct Mastic, (including insulation)	550	square foot	\$5.00	\$2,750.00	\$6.00	\$3,300.00	\$1.75	\$962.50	\$4.50	\$2,475.00	\$1.00	\$550.00	
Asbestos Abatement - Wall or Ceiling Mastic	550	square foot	\$1.75	\$962.50	\$2.50	\$1,375.00	\$2.00	\$1,100.00	\$4.50	\$2,475.00	\$1.00	\$550.00	
Asbestos Abatement - Ceilings: 2'ft.' x 4'ft. suspended	550	square foot	\$2.25	\$1,237.50	\$2.00	\$1,100.00	\$2.00	\$1,100.00	\$1.45	\$797.50	\$1.00	\$550.00	
(including suspension system)													
Asbestos Abatement - Ceilings: 1'ft.' x 4' ft. or less	550	square foot	\$2.25	\$1,237.50	\$2.00	\$1,100.00	\$2.00	\$1,100.00	\$1.45	\$797.50	\$1.00	\$550.00	
Asbestos Abatement - Siding	550	square foot	\$1.50	\$825.00	\$3.00	\$1,650.00	\$2.00	\$1,100.00	\$1.85	\$1,017.50	\$1.00	\$550.00	
Asbestos Abatement - Cement Siding	550	square foot	\$2.25	\$1,237.50	\$8.00	\$4,400.00	\$2.00	\$1,100.00	\$1.85	\$1,017.50	\$1.00	\$550.00	
Asbestos Abatement - Roof: Flashing and Parapets	550	square foot	\$3.50	\$1,925.00	\$6.00	\$3,300.00	\$2.00	\$1,100.00	\$3.25	\$1,787.50	\$1.40	\$770.00	
Material													
Asbestos Abatement - Roof: Shingles	550	square foot	\$1.75	\$962.50	\$6.00	\$3,300.00	\$2.00	\$1,100.00	\$1.35	\$742.50	\$1.40	\$770.00	
Asbestos Abatement - Roof Patch Coatings	550	square foot	\$5.00	\$2,750.00	\$6.00	\$3,300.00	\$2.00	\$1,100.00	\$3.25	\$1,787.50	\$1.40	\$770.00	
Asbestos Abatement - Roof: Membrane Deck Material	550	square foot	\$3.50	\$1,925.00	\$6.00	\$3,300.00	\$2.00	\$1,100.00	\$1.95	\$1,072.50	\$1.30	\$715.00	

TABULATION SHEET	11		Vendor #	Vendor #1		Vendor #2		Vendor #3		Vendor #4		Vendor #5	
Bid No. 2013-029-6268	100				DWW Abatement, Inc.		EDRS Inc.		Empire Environmental Group Inc.		RNDI Companies Inc.		
Annual Contract Asbestos, Lead, and Mold								Joe Bordonaro, President				Diana Cross, President	
Abatement and Remediation Services	- : :							101 S. Coit Rd., Ste 36		11405 Molly Mac Drive		2255 Ridge Rod, Ste. 216	
Opening Date: 3/25/2013								Richardson, TX 75080		Balch Springs, TX 75180		Rockwall, TX 75087	
Opening Date: 3/23/2013		3 3 3	972-271-15	,		,			214-327-365		214-771-3977		
DESCRIPTION:	430	48.48.44	972-271-15					972-492-3417 972-492-3405 Fax		214-327-5669 Fax		214-771-3977 214-771-3988 Fax	
DESCRIPTION.	1	31.31.1		<u>@arcabatement.com</u>				arthlink.net	empireenvirog@msn.com		diana@rndicompanies.com		
NCTRCA Certified Vendor (M/WBE)?	100	99 99 9	No/Sub-Co				Blank	artimik.net	Yes		Yes		
Dallas County Taxpayer?			Yes	itiactor is.	No, Denton	County	Yes		Yes		Blank		
How were you notified?				nercial Record	Letter from		Letter from	DC	Letter from DC		Letter from DC		
Addendum Returned?		31.31.3	Yes		No		No		Yes		No No		
		40.00						9 9 9 9 9				100010000000000000000000000000000000000	
Asbestos Abatement - Ceiling Tile and Grid System	550	square foot		\$1,237.50	\$3.00	\$1,650.00	\$2.00		\$1.75	\$962.50	\$1.00	\$550.00	
Aspestos Abatement - Cennig The and Grid System	330	square root	\$2.25	\$1,257.50	\$5.00	\$1,650.00	\$2.00	\$1,100.00	\$1.75	\$962.50	\$1.00	\$550.00	
Asbestos Abatement - Mechanically fastened asbestos	550	square foot	\$2.25	\$1,237.50	\$6.00	\$3,300.00	\$2.50	\$1,375.00	\$1.50	\$825.00	\$1.00	\$550.00	
Assested Abatement - Wechanically rasteried assested	330	square root	72.23	71,237.30	Ş0.00	\$3,300.00	72.30	\$1,575.00	Ş1.50	3023.00	Ş1.00	\$550.00	
cement products and debris													
comence produces and depris													
Asbestos Abatement - Window/Door Frame Sealant	100	linear foot	\$10.00	\$1,000.00	\$20.00	\$2,000.00	\$2.00	\$200.00	\$4.50	\$450.00	\$10.00	\$1,000.00	
			,	7-,	,	7-,000.00	,	7	7	7.00.00	,	7 = ,000.00	
A de standard and the s								1		I			
Asbestos Abatement - Mechanical System		l	Ć4 F0	¢225.00	ć=0.00	¢2 500 00	ć40.00	¢500.00	ć4 F0	¢225.00	ć2.00	¢450.00	
Insulation from boilers, stacks and ducts	50	square foot	\$4.50	\$225.00	\$50.00	\$2,500.00	\$10.00	\$500.00	\$4.50	\$225.00	\$3.00	\$150.00	
Insulation from piping - Gross Removal	50	linear foot	\$4.50	\$225.00	\$50.00	\$2,500.00	\$17.00	\$850.00	\$4.50	\$225.00	\$3.00	\$150.00	
insulation from piping - Gross Kemovai	30	ilileal 100t	Ş4.3U	\$225.00	\$30.00	\$2,500.00	\$17.00	\$650.00	\$4.50	\$225.00	\$5.00	\$150.00	
Insulation from piping - Glove Bag Removal	50	linear foot	\$7.00	\$350.00	\$50.00	\$2,500.00	\$17.00	\$850.00	\$7.50	\$375.00	\$3.00	\$150.00	
insulation from piping - diove bag kemoval	30	ilitear 100t	77.00	7330.00	Ç30.00	\$2,300.00	Ç17.00	3030.00	\$7.50	J373.00	<b>\$3.00</b>	\$150.00	
Insulation from piping, inculding piping - Cut and	50	linear foot	\$6.50	\$325.00	\$50.00	\$2,500.00	\$17.00	\$850.00	\$7.50	\$375.00	\$3.00	\$150.00	
Wrap Method	30	iiiicai ioot	Ç0.50	7323.00	Ç30.00	\$2,300.00	Ç17.00	\$650.00	Ş7.30	\$373.00	Ş3.00	\$150.00	
With Media													
Duct mastic, including insulation	50	square foot	\$5.00	\$250.00	\$50.00	\$2,500.00	\$10.00	\$500.00	\$4.50	\$225.00	\$2.00	\$100.00	
,,		54	,	7	,	7-,000.00	7-0.00	,	7	7	7	7 - 2 - 2 - 2	
Asbestos Abatement - Insulation from Piping including										,			
valves and fitting - Gross Removal													
Size: Less than 4" in diameter	50	linear foot	\$5.00	\$250.00	\$25.00	\$1,250.00	\$17.00	\$850.00	\$6.00	\$300.00	\$3.00	\$150.00	
Size: 4" - 6" in diameter	50	linear foot	\$6.00	\$300.00	\$30.00	\$1,500.00	\$17.00	\$850.00	\$6.50	\$325.00	\$3.00	\$150.00	
Size: 6" - 8" in diameter	50	linear foot	\$7.00	\$350.00	\$35.00	\$1,750.00	\$17.00	\$850.00	\$7.00	\$350.00	\$3.00	\$150.00	
Size: 8" - 10" in diameter	50	linear foot	\$8.00	\$400.00	\$40.00	\$2,000.00	\$17.00	\$850.00	\$7.50	\$375.00	\$3.00	\$150.00	
						4							
Size: 10" - 12" in diameter	50	linear foot	\$10.00	\$500.00	\$45.00	\$2,250.00	\$25.00	\$1,250.00	\$8.00	\$400.00	\$3.00	\$150.00	
Cinc. 12!! 14!! in diagraphy.	FC	line f	Ć11 00	¢550.00	¢50.00	¢2.500.00	¢25.00	ć1 250 00	ćo ro	¢425.00	¢2.00	Ć150.00	
Size: 12" - 14" in diameter	50	linear foot	\$11.00	\$550.00	\$50.00	\$2,500.00	\$25.00	\$1,250.00	\$8.50	\$425.00	\$3.00	\$150.00	
Cize: 14" in diameter and above	ΕO	linear fact	¢12.00	¢600.00	¢60.00	\$2,000,00	¢25.00	¢1 250 00	¢0.00	¢450.00	ć2 00	¢150.00	
Size: 14" in diameter and above	50	linear foot	\$12.00	\$600.00	\$60.00	\$3,000.00	\$25.00	\$1,250.00	\$9.00	\$450.00	\$3.00	\$150.00	
Asbestos Abatement - Insulation from Piping including													
valves and fitting - Glove Bag Removal													
vaives and fitting - Glove bag Refflordi													
Size: Less than 4" in diameter	50	linear foot	\$7.00	\$350.00	\$25.00	\$1,250.00	\$17.00	\$850.00	\$6.00	\$300.00	\$3.00	\$150.00	
S.Ec. 2003 (Idil 4 III didilecte)	30		· / .00	Ç.50.00	Ç23.00	Ç1,230.00	Ç17.00	Ç330.00	Ç 0.00	Ç500.00	Ç3.00	Ç130.00	
Size: 4" - 6" in diameter	50	linear foot	\$8.00	\$400.00	\$30.00	\$1,500.00	\$17.00	\$850.00	\$6.50	\$325.00	\$3.00	\$150.00	
	55		- 5.00	7 . 30.00	- 55.56	7-,555.55	, 17.00	+ 555.55	- 0.50	7-20.00	, s. s s	7-55.55	
Size: 6" - 8" in diameter	50	linear foot	\$9.00	\$450.00	\$35.00	\$1,750.00	\$17.00	\$850.00	\$7.00	\$350.00	\$3.00	\$150.00	
			, , , , , ,	, , , , , , , , , , , , , , , , , , , ,	,	, ,	, =	,	,		,	,	
Size: 8" - 10" in diameter	50	linear foot	\$10.00	\$500.00	\$40.00	\$2,000.00	\$17.00	\$850.00	\$7.50	\$375.00	\$3.00	\$150.00	
					Ī	. ,					Ī		
Size: 10" - 12" in diameter	50	linear foot	\$11.00	\$550.00	\$45.00	\$2,250.00	\$25.00	\$1,250.00	\$8.00	\$400.00	\$3.00	\$150.00	
			_		_			_			_		

TABULATION SHEET		40 40 4	Vendor #	1	Vendor #2		Vendor #3		Vendor #4		Vendor #5		
Bid No. 2013-029-6268	.:	4 4 4	ARC Abater				EDRS Inc.			ronmental Group Inc.	RNDI Companies Inc.		
Annual Contract Asbestos, Lead, and Mold	300	30 30 3		ly, Sr. Project Mgr		, ,				t Martin Robledo. President		Diana Cross. President	
Abatement and Remediation Services	300	3 3 3	2710 Natio		, ,		101 S. Coit Rd., Ste 36			<b>,</b>	2255 Ridge Rod, Ste. 216		
	::	: : :				••		· ·		Mac Drive	Rockwall, TX 75087		
Opening Date: 3/25/2013		3 3 1		· ·		·		Richardson, TX 75080		Balch Springs, TX 75180		214-771-3977	
	13		972-271-15				972-492-3417		214-327-3653				
DESCRIPTION:	::		972-271-15		972-516-22		972-492-34		214-327-5669 Fax		214-771-3988 Fax		
	1			y@arcabatement.com				arthlink.net	empireenvirog@msn.com			dicompanies.com	
NCTRCA Certified Vendor (M/WBE)?	3.	3 3 3	No/Sub-Co	o/Sub-Contractor is. Yes			Blank		Yes		Yes		
Dallas County Taxpayer?	3.	3 3 3	Yes		No, Dentor	n County	Yes		Yes		Blank		
How were you notified?		6 6 6	Daily Comn	nercial Record	Letter from	n DC	Letter fron	n DC	Letter from	DC	Letter fron	n DC	
Addendum Returned?	100	2 2 1	Yes		No		No		Yes		No		
ploteiciel (de loteiciel ciel ciel (de loteiciel (de loteiciel	1	4 4 4	100		1996		4	Section Sec		in objects object	0.000	स्वत्र सम्बद्ध	
Size: 12" - 14" in diameter	50	linear foot	\$12.00	\$600.00	\$50.00	\$2,500.00	\$25.00	\$1,250.00	\$8.50	\$425.00	\$3.00	\$150.00	
olec 12 11 madmeter	50	car root	φ1 <b>2</b> .00	7000.00	φ50.00	φ <b>2</b> ,300.00	<b>\$25.00</b>	<b>\$1,250.00</b>	φ0.50	Ų 123100	φ3.00	<b>\$150.00</b>	
Size: 14" in diameter and above	50	linear foot	\$15.00	\$750.00	\$60.00	\$3,000.00	\$25.00	\$1,250.00	\$9.00	\$450.00	\$3.00	\$150.00	
Asbestos Abatement - Insulation from Piping including	l			I									
piping - Cut and Wrap Method													
Size: Less than 4" in diameter	50	linear foot	\$6.00	\$300.00	\$20.00	\$1,000.00	\$17.00	\$850.00	\$6.00	\$300.00	\$3.00	\$150.00	
Size: 4" - 6" in diameter	50	linear foot	\$7.00	\$350.00	\$25.00	\$1,250.00	\$17.00	\$850.00	\$6.50	\$325.00	\$3.00	\$150.00	
Size: 6" - 8" in diameter	50	linear foot	\$8.00	\$400.00	\$30.00	\$1,500.00	\$17.00	\$850.00	\$7.00	\$350.00	\$3.00	\$150.00	
							4		4				
Size: 8" - 10" in diameter	50	linear foot	\$9.00	\$450.00	\$35.00	\$1,750.00	\$17.00	\$850.00	\$7.50	\$375.00	\$3.00	\$150.00	
Size: 10" - 12" in diameter	50	linear foot	\$10.00	\$500.00	\$40.00	\$2,000.00	\$25.00	\$1,250.00	\$8.00	\$400.00	\$3.00	\$150.00	
Size: 12" - 14" in diameter	50	linear foot	\$11.00	\$550.00	\$45.00	\$2,250.00	\$25.00	\$1,250.00	\$8.50	\$425.00	\$3.00	\$150.00	
Size: 14" in diameter and above	50	linear foot	\$12.00	\$600.00	\$55.00	\$2,750.00	\$25.00	\$1,250.00	\$9.00	\$450.00	\$3.00	\$150.00	
Asbestos General Surface Clean (wet wipe and HEPA vacuum)	200	square foot	\$5.00	\$1,000.00	\$5.00	\$1,000.00	\$10.00	\$2,000.00	\$0.35	\$70.00	\$2.00	\$400.00	
Notification Fee as defined in Rule 295.61: \$			\$35.00	\$35.00	\$50.00	\$50.00	\$30.00	\$30.00	\$1.03	\$1.03	\$2,000,00	\$2,000.00	
/asbestos reporting unit.			Ç33.00	\$33.00	\$30.00	\$30.00	\$30.00	330.00	Ş1.03	\$1.03	\$2,000.00	\$2,000.00	
Minimum Service Charge	50	each	\$1,500.00	\$75,000.00	\$1,500.00	\$75,000.00	\$1,500.00	\$75,000.00	\$450.00	\$22,500.00	\$650.00	\$32,500.00	
(Note: Dallas County will only pay the minimum service													
charge amount or the actual time worked, whichever is greater.)													
Specify surcharge (if any) for Emergency Service Request:			25%		30%		20%		0%		20%		
% of fees stated above.			23/0		5070		20/0		C/6		20/0		
(Note: Emergency Service is defined as any request that requires immediate on-site response time of two (2) hours													
or less,													
after hours and weekend work.)													
Lead Based Paint (LBP) Abatement, Removal and Legally Disposal Services, as per bid specification requirements.													
								1					
Exterior Structural Steel, Railings, Metal Work, Etc. LBP Coating	50	square foot	\$7.50	\$375.00	\$20.00	\$1,000.00	\$10.00	\$500.00	\$2.75	\$137.50	\$10.00	\$500.00	
Windowsills and Door LBP Coating Windowsills and Doors	50	square foot	\$7.50	\$375.00	\$50.00	\$2,500.00	\$10.00	\$500.00	\$2.75	\$137.50	\$10.00	\$500.00	
Lead Contaminated Soil (2" Depth)	50	square foot	\$25.00	\$1,250.00	\$60.00	\$3,000.00	\$10.00	\$500.00	\$10.00	\$500.00	\$30.00	\$1,500.00	

TABULATION SHEET		ile ile i	Vendor #	/endor #1 V		Vendor #2		Vendor #3			Vendor #5		
Bid No. 2013-029-6268			ARC Abater	ARC Abatement, Inc. D		DWW Abatement, Inc.		EDRS Inc.		Empire Environmental Group Inc.		RNDI Companies Inc.	
Annual Contract Asbestos, Lead, and Mold	400	4 4 4	Dwayne Ea	Owayne Ealy, Sr. Project Mgr Cl		Chris Welch, Operations Mgr		Joe Bordonaro, President		t Martin Robledo, President		Diana Cross, President	
Abatement and Remediation Services		9 9 9				2901 Technology Drive., Suite		101 S. Coit Rd., Ste 36		Mac Drive	2255 Ridge Rod, Ste. 216		
Opening Date: 3/25/2013	10	3 3 3	Garland, TX					Richardson, TX 75080		Balch Springs, TX 75180		Rockwall, TX 75087	
			972-271-15	83			972-492-3417		214-327-3653		214-771-3977		
DESCRIPTION:			972-271-15				972-492-3405 Fax		214-327-5669 Fax		214-771-3988 Fax		
		3. 3. 1	dwayneeal	wayneealy@arcabatement.com cv		wabatement.com	joboers@e	arthlink.net	empireenvirog@msn.com		diana@rndicompanies.com		
NCTRCA Certified Vendor (M/WBE)?		3.3.1	No/Sub-Co	No/Sub-Contractor is. Ye			Blank		Yes		Yes		
Dallas County Taxpayer?			Yes	*		County	Yes		Yes		Blank		
How were you notified?	4	4 4 4 4	Daily Comn	nercial Record	Letter from		Letter from	DC	Letter from	DC	Letter from DC		
Addendum Returned?	40	3.334	Yes		No		No		Yes		No		
		3 3 3	13. 3						3. 3.				
Mechanically Fastened Exterior Trim or Fascia with LBP as	50	square foot	\$7.50	\$375.00	\$15.00	\$750.00	\$10.00	\$500.00	\$2.75	\$137.50	\$10.00	\$500.00	
whole architectural component													
Interior Wall System with LBP as whole architectural	50	square foot	\$7.50	\$375.00	\$50.00	\$2,500.00	\$10.00	\$500.00	\$1.50	\$75.00	\$1.40	\$70.00	
component													
Interior Wall or Ceiling LBP Coating System to Substrate -	50	square foot	\$12.50	\$625.00	\$50.00	\$2,500.00	\$10.00	\$500.00	\$1.75	\$87.50	\$3.00	\$150.00	
Mechanical Stripping													
Exterior Wall or Ceiling LBP Coating System to Substrate -	50	square foot	\$17.50	\$875.00	\$50.00	\$2,500.00	\$10.00	\$500.00	\$2.75	\$137.50	\$3.00	\$150.00	
Mechanical Stripping													
Interior Trim LBP Coating System to Substrate - Mechanical	50	square foot	\$12.50	\$625.00	\$60.00	\$3,000.00	\$10.00	\$500.00	\$0.85	\$42.50	\$3.00	\$150.00	
Stripping													
Exterior Trim LBP Coating System to Substrate - Mechanical	50	square foot	\$17.50	\$875.00	\$60.00	\$3,000.00	\$10.00	\$500.00	\$0.95	\$47.50	\$3.00	\$150.00	
Stripping													
Interior Trim LBP Coating System to Substrate - Chemical	50	square foot	\$12.50	\$625.00	\$60.00	\$3,000.00	\$10.00	\$500.00	\$0.85	\$42.50	\$4.00	\$200.00	
Stripping													
		_											
Exterior Trim LBP Coating System to Substrate - Chemical	50	square foot	\$17.50	\$875.00	\$60.00	\$3,000.00	\$10.00	\$500.00	\$0.95	\$47.50	\$4.00	\$200.00	
Stripping													
W. G. LUFDAY N. B. G. f.			45.00	4250.00	440.00	4000.00	440.00	4500.00	40.05	440.50	42.00	4400.00	
Wet Clan and HEPA Vacuum Non-Porous Surfaces	50	square foot	\$5.00	\$250.00	\$18.00	\$900.00	\$10.00	\$500.00	\$0.25	\$12.50	\$2.00	\$100.00	
Surface Propagation of LRB to Becoive New Continue	50	causes foot	¢E OO	\$250.00	¢12.00	\$600.00	\$10.00	\$500.00	¢n ar	\$12.50	Ċ1 FO	\$75.00	
Surface Preparation of LBP to Receive New Coatings	30	square foot	<b>30.00</b>	\$250.00	\$12.00	\$600.00	\$10.00	\$500.00	\$0.25	\$12.50	\$1.50	ş/3.00	
					1						1		
Manifest Transport and Properly Dispose of Load	2	drums	\$1,500.00	\$3,000,00	\$750.00	\$1.500.00	\$500.00	\$1,000.00	\$600.00	\$1.200.00	\$550.00	\$1,100.00	
Manifest, Transport, and Properly Dispose of Lead Hazardous	_	urums	00.00د, د ج	,5,000.00	00.00 ر	71,300.00	JJ00.00	71,000.00	Ç000.00	71,200.00	JJJU.00	71,100.00	
Waste per 55 gallon drum											1		
muste per 55 ganon arani											1		
Encapsulation of Interior or Exterior LBP Wall, Ceiling, or	50	square foot	\$25.00	\$1,250.00	\$100.00	\$5,000.00	\$10.00	\$500.00	\$3.00	\$150.00	\$2.00	\$100.00	
The state of the s	ار	1900.01000	, 20.00	7 -,250.00	, 100.00	,000.00	, 10.00		- 5.00		,	7 = 00.00	
Trim (20 Year Warranty)													
(													
Notification Fee as defined in Rule 295.214: \$ /each			\$175.00	\$175.00	\$50.00	\$50.00	\$100.00	\$100.00	\$1.03	\$1.03	\$2,000.00	\$2,000.00	
original notification						,	,				,_,_,	. ,	
Minimum Service Charge	50	each	\$1,500.00	\$75,000.00	\$2,500.00	\$125,000.00	\$1,500.00	\$75,000.00	\$450.00	\$22,500.00	\$650.00	\$32,500.00	
(Note: Dallas County will only pay the minimum service			, ,	. ,	<u> </u>	,	. ,	,		, , , , , , , , , , , , , , , , , , , ,		. ,	
charge amount or the actual time worked, whichever is													
greater.)													
											1		
				1	-		•						

TABULATION SHEET	0.0	(i. (i. )	Vendor #	1	Vendor #2		Vendor #3		Vendor #4		Vendor #5		
Bid No. 2013-029-6268		3 3 1	ARC Abaten	nent, Inc.	DWW Abatement, Inc.		EDRS Inc.		Empire Environmental Group Inc.		RNDI Companies Inc.		
Annual Contract Asbestos, Lead, and Mold		46.4		y, Sr. Project Mgr	·						Diana Cross, President		
Abatement and Remediation Services		4 4 4	2710 Nation				101 S. Coit Rd., Ste 36		11405 Molly	•	2255 Ridge Rod, Ste. 216		
Opening Date: 3/25/2013	300	90 90 9	Garland, TX	75041	, , , , , , , , , , , , , , , , , , ,		Richardson, TX 75080		Balch Spring	s, TX 75180	Rockwall, TX 75087		
			972-271-15	72-271-1583 977				972-492-3417		214-327-3653		214-771-3977	
DESCRIPTION:			972-271-15					405 Fax	214-327-5669 Fax		214-771-3988 Fax		
			dwayneealy			wwabatement.com	joboers@e	earthlink.net	empireenvirog@msn.com		diana@rndicompanies.com		
NCTRCA Certified Vendor (M/WBE)?			No/Sub-Cor	o/Sub-Contractor is. Yes			Blank		Yes		Yes		
Dallas County Taxpayer?		46.4	Yes		No, Dentor	County	Yes		Yes		Blank		
How were you notified?	.:	4 4 4	Daily Comm	nercial Record	Letter from	DC	Letter fron	n DC	Letter from	DC	Letter fro	m DC	
Addendum Returned?	300	90 90 9	Yes		No		No		Yes		No		
	11		1. 1.										
Specify surcharge (if any) for Emergency Service Request: % of fees stated above.			25%		30%		20%		0%		20%		
(Note: Emergency Service is defined as any request that													
requires immediate on-site response time of two (2) hours													
or less after hours and weekend work.)													
Mold Abatement, Remediation, Removal and Legally Disposal Services, as per bid specification requirements.													
Mold Affected Drywall	100	square foot	\$1.75	\$175.00	\$10.00	\$1,000.00	\$3.00	\$300.00	\$1.85	\$185.00	\$1.50	\$150.00	
(including wall cavity, insulation and mechanical systems)													
Mold Affected Ceiling System	500	square foot	\$1.75	\$875.00	\$10.00	\$5,000.00	\$3.00	\$1,500.00	\$1.85	\$925.00	\$1.50	\$750.00	
(including ceiling grid, substrate, insulation and mechanical systems)													
Insulation with Mold	500	square foot	\$2.00	\$1,000.00	\$8.00	\$4,000.00	\$3.00	\$1,500.00	\$0.50	\$250.00	\$2.00	\$1,000.00	
Mold Affected Carpet including pad	500	square foot	\$2.00	\$1,000.00	\$5.00	\$2,500.00	\$3.00	\$1,500.00	\$0.35	\$175.00	\$2.00	\$1,000.00	
Mold Affected Vinyl	100	square foot	\$3.50	\$350.00	\$5.00	\$500.00	\$3.00	\$300.00	\$1.25	\$125.00	\$2.00	\$200.00	
Mold Affected Ceiling Tile	100	square foot	\$3.25	\$325.00	\$5.00	\$500.00	\$3.00	\$300.00	\$1.45	\$145.00	\$2.00	\$200.00	
Lumber with Mold	550	square foot	\$5.00	\$2,750.00	\$10.00	\$5,500.00	\$3.00	\$1,650.00	\$1.45	\$797.50	\$2.00	\$1,100.00	
Mold Affected Thermal System Insulation	100	linear foot	\$3.00	\$300.00	\$10.00	\$1,000.00	\$13.00	\$1,300.00	\$1.35	\$135.00	\$3.50	\$350.00	
(including substrate)	100	illear root	\$5.00	\$500.00	\$10.00	\$1,000.00	\$15.00	\$1,500.00	\$1.55	\$155.00	\$5.50	\$550.00	
Cabinets including Tops with Mold	50	linear foot	\$5.00	\$250.00	\$5.00	\$250.00	\$10.00	\$500.00	\$25.00	\$1,250.00	\$2.00	\$100.00	
Plumbing Fixtures with Mold	50	each	\$3.50	\$175.00	\$5.00	\$250.00	\$10.00	\$500.00	\$35.00	\$1,750.00	\$35.00	\$1,750.00	
General Surface Clean (Non-Porous Mold Affected Areas	100	square foot	\$2.50	\$250.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$35.00	\$3,500.00	\$2.00	\$200.00	
including substrate)													
General Surface Clean (Porous Mold Affected Areas	100	square foot	\$2.50	\$250.00	\$15.00	\$1,500.00	\$10.00	\$1,000.00	\$0.35	\$35.00	\$2.00	\$200.00	
including substrate)													
Hourly rate for miscellaneous worker labor (i.e. Furniture moving)	200	hours	\$30.00	\$6,000.00	\$50.00	\$10,000.00	\$20.00	\$4,000.00	\$26.00	\$5,200.00	\$30.00	\$6,000.00	
Hourly rate for miscellaneous supervisor labor	200	hours	\$50.00	\$10,000.00	\$75.00	\$15,000.00	\$20.00	\$4,000.00	\$30.00	\$6,000.00	\$35.00	\$7,000.00	

TABULATION SHEET	100	40 × 140 × 14	Vendor #	ł1	Vendor #2 Vendor #3		Vendor #4		Vendor #5				
Bid No. 2013-029-6268			ARC Abate	=		tement. Inc.	EDRS Inc.		Empire Environmental Group Inc.		RNDI Companies Inc.		
Annual Contract Asbestos, Lead, and Mold				ly, Sr. Project Mgr				aro. President			Diana Cross. President		
Abatement and Remediation Services	4.0	선생님 내	2710 Natio		-	nology Drive., Suite		,	11405 Molly Mac Drive		2255 Ridge Rod, Ste. 216		
Opening Date: 3/25/2013	190		Garland, TX			Plano, TX 75074 Richardson			Balch Springs, TX 75180		Rockwall, TX 75087		
Opening Date: 3/23/2013	111		972-271-15			,		17	214-327-3653		214-771-3977		
DESCRIPTION:	- 3	9 9 3	972-271-15					05 Fax	214-327-5653 214-327-5669 Fax		214-771-3988 Fax		
DESCRIPTION.				y@arcabatement.com				joboers@earthlink.net		rog@msn.com	diana@rndicompanies.com		
NCTRCA Certified Vendor (M/WBE)?			No/Sub-Co			Yes Blank				одения	Yes		
Dallas County Taxpayer?	100	48 48 44	Yes				Yes		Yes Yes		Blank		
How were you notified?		40.4		Daily Commercial Record Le				DC	Letter from DC		Letter from DC		
Addendum Returned?	110		Yes		No			No No		Yes		No	
	::	de de la	0.000							acadadad	0.000		
(i.e. Furniture moving)													
Remove of and Dispose of Liquid Waste with mold, lead, and	6000	gallons	\$3.50	\$21,000.00	\$5.00	\$30,000.00	\$5.00	\$30,000.00	\$1.15	\$6,900.00	\$1.00	\$6,000.00	
asbestos containing material)													
Notification Fee as defined in Rule 295.325: \$ / mold			\$175.00	\$175.00	\$50.00	\$50.00	\$100.00	\$100.00	\$1.03	\$1.03	\$2,000,00	\$2,000.00	
remediation project			\$175.00	\$175.00	\$30.00	\$30.00	\$100.00	\$100.00	\$1.03	\$1.03	\$2,000.00	\$2,000.00	
Minimum Service Charge	50	each	\$1,500.00	\$75,000.00	\$3,000.00	\$150,000.00	\$1,500.00	\$75,000.00	\$450.00	\$22,500.00	\$650.00	\$32,500.00	
(Note: Dallas County will only pay the minimum service chare amount or the actual time worked, whichever is greater.)													
Specify surcharge (if any) for Emergency Service Request: % of fees stated above.			25%		30%		20%		0%		20%		
(Note: Emergency Service Request is defined as any request													
that requires immediate on-site response time of two (2)													
hours or less,													
after hours and weekend work.)													
GRAND TOTAL:				\$361,432.50		\$634,525.00		\$368,917.50		\$160,623.09		\$183,950.00	